TG/ Maths (TR 9219 /Modal Paper) 99V 4= T8 /Fifth Year | (SET-A)
el e & A (v') 1 g e - 5x1=5
Marks (v') the correct answer in each of the following -
9.1 16T 24 FH HETH FHIIAS I HIH ENT -

Find the value H.C.F. of 16 and 24 -

0 4 ()8

(iii) 12 e “(iv) None oT these
A2, 32T 96 T AETH 7

chﬁheH C i3 =

Ol s ’ i) 4

(iii) 8 (iv) None of these |
9.3, 36 AN 48 F FTH GEITER AT -

Find the L.C.M. of 36 and 48 -

iy 144 (i) 172

(iii) 360 (iv) 380
g4, 12 3R 16 F STOH GAGEAT A5 -

Find the L.C.M. of 12 and 16 -

i) 38 (i) 48

(ifi) 58 (iv) 68
W5, T 10 ST g w9 100 2 Al 15 S g & -

\‘If 15 mangoes cost Rs. 100, What do 15 mangoes cost -

(i) Rs. 150 (ii) Rs.200

(ili) Rs. 250 (iv) Rs. 300
Hﬁﬁm%amﬁ(«’)ﬁ:rﬁgw, 5x2=10

(iv) None of these
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97.  12,10,9, 6 SRS T FHa F1 &N -

What will be average at 12, 10,9, 6 and 8 -

i 9 (i) 12

(i) 15 (iv) 18
8. 2,4,8, 6% AW L f;? o wimo

Find the average of 2 4 8 6 - | -

(iy 4 *3 (i)' §

(iii) 6 "‘ (iv) None of these
99.  9+6+8 3% &S HIT -

Solvethe9 +6+8-3

(i 20 (ii) 25

(iii) 30 (iv) 35
9.10. 16 + 2 x 2 %1 | F1&FT -

Find the value of 16 +2 x 2

(i) 10 . (i) 12

(i) 14 (iv) 16

s T A gl i - 2 10 x 2 =20
Fill in the blanks - - g : '
911, 2x5-3 — T
12 9-6+4
513 24543
914, 2 Sﬁi 4% a
915. 9+3x 2
9.16. 9><2—1O N |
S.17. 4 3R 8 T HETH GHTERE S
918, 4+2+3-2 = rreverennne
919. 1,2, 3FeEas S
920. 2-3+6 TR
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P T - 5x2=10
Matching the following -

921. 2+6-3

922, 5+6+4

923. 3-2+3

924, 4+2-3

925 2 811'( 4@5114‘@“&! ??F!Tﬁﬁaﬁﬁ (@)
Write true and false - 4 = ‘

9.26. 4 3N 8 F FYTH FHITATE 8 &Il &

A& QRAFfT CM

4 & 8 of L.C.M. is

9.27. 23TR6EEIWWW2€IHTEI
2&60f HC.M.is 2

9.28. 9+6+9 o TR e , 2 Lt R

"5{."29,‘. “ 93 ]3 30 = 3 o

9.30. 4 x2+6 : "N 8

w%aqaﬂﬁq 9% - 5x2=10

931 8,16, zownaﬁquamwwl 4
Find the H.C.F. of §, 16, 20.

9.32. 12 Hie FGE F1 Hed T 84 2 1 8 WS FIL Hl HA AT

12 m cloths costs Rs. 84 thendtmd the cost of 8 cm cloths.
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9.33. 9 & & eI -

Solve it -

934, EHIHT HiT -

Simplification -

92 +4x2
92 +4x2

9x2+6-8
9x2+6-8

9.35. 9% 9€ § Sl ST S &iTe {6 75, 90, 120 Y aXE foniitd &1 T4

Find the largest number which divisible 75, 90, 120.

e I 5 -
Short types question -

U.36. S9H G AR SEATeT i e Fid S

Find the average of first 5 natural number.

5x3=15

9.37. TIUTG AR e § G 24, 22, 16, 18 i 9 60| SHd i Fd Hifel
The Pushpa obtain the mark in maths 4 exam are 24, 22, 16, 18. Find the average.
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N e

9.38. dlg 5 [hedl |l &l Hed &9 260, AT & 520 H el bl =il TG Teh & 2
It 5kg sugar costs Rs. 260. How much sugar can be bought for Rs. 520 ?

9.39. Al 15 Hali @l Hed &4 120, 20 Ga I F1 Hed &80T 2
If 15 orange costs Rs. 120, What do 20 oranges cost ?

9.40. 45,90, 180 T FLAH THITEAT 1 BT |
Find the L.C.M. of 45, 90, 180

el SR e - 2x10=20
Long types question -

T41. TF BR 40 S GRS F 40 . ST &, A1 12 SHex Igie | fhaet g St 2
A car can cover a distance of 400 km in 4 liter of petrol. How far can it

travel on 12 liter of petrol

9.42. 12,18, 30, 40 1 SYAH GHTGEAT 1 it
Find the L.C.F. of 12, 18, 30, 40.
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